Y3 Task: Just draw and write the
to print this page.
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fractions

in your book. You do not need

Choose two fractions and write a number sentence using < or > to compare them.
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3 1 42
5 5 5 5
6 3 5 2
7 7 7 7
5 2 8 1
9 9 9 9
5 3 6 9 2
11 11 11 11 11
4 2 7 8 1
15 15 15 15 15
34 23 61 57 43
100 100 100 100 100



Read the question, circle the
key information, write a
number sentence and answer..

Y4 Task — do your task in your
homework book. - ;
0 1 3 4 5 6 7 8 9 10 = .

0 0 0 10 10 10 10 10 10 10 10 || ey
Oi’/o 10|% I 3Ci% lool% SOI% 60|% 70|% 80I% 90% 100% ,_J D Q s g

| | 34 5cm 98 3cm 124.74m 43 9m

decimals.

What is the perimeter of the | The height of each of the What is the difference
0 0.1 O. 3 0.4 0.5 0.6 0.7 0.8 09 1 bed above? Can you find wooden legs of the bed is between the length of
the answer for the top and 76.5cm. What is the total Kasper’s cloud and the
the bottom of the bed? length of the legs? length of the rocker? t

One of the legs broke? How
many cm remain on the

three remaining legs? .i
‘
Dexter had 4 rockets. Kasper’s cloud was cut in What is the total length of
What was the total length half when the control 2 clouds and 2 rockets?
of all four rocket? station exploded. What
was the length of the two
sections?

What is the difference in The base of the shed is a What is the difference
length between a cloud and | square. What is the between the length and
a rocket? perimeter of the shed? width of the bed?
L |
Dexter buys 6 rockets for Kasper bough: 2 sheds at The bed cost £54.76.
reserves. What was the £124 .54 each. How much Kasper paid for this with a
length of these? was this altogether? £100 note. How much
Each rocket cost £4.65, change did he get? '-

how much did this cost in
total?
<




